APPM 2360 Exam 2 Summer 2024

1. [2360/062824 (10 pts)WVrite the wordTRUE or FALSE as appropriate. No work need be shown. No partial credit given.
(a) If A; B are square matrices of the same order, then it is always the cagedthat BA
(b) If A is a square matrix witpAj = 0, thenA ¥ = 6 is inconsistent.
(c) If Uis the set of all points in they-plane except the origin, theuis not a vector space.
(d) IfA isann n matrix, then TA = Tr AT .
(e) IfjAB j =0, andA is nonsingular, theflis an eigenvalue dB .

SOLUTION :

(a) FALSE Whilst it is true that bottAB andBA









